
Objective - To write rules and find sums for 
geometric sequences.

       Rule for a Geometric Sequence      

A geometric sequence has a common ratio
between consecutive terms.
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Decide if each series is a geometric series.
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Write a rule for the nth term of each sequemce.
Then find a10 .
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Write a rule for the nth term. 

Write the first few terms.

-0.5, -1, -2, -4, -8,…
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Write a rule for the nth term. 
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Write a rule for the nth term. 
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Sum of a Finite Geometric Sequence

1

Sum of the first n terms of a geometric sequence
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Find the sum of the first 6 terms
          2, 10, 50, 250,...
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Find the sum of the first 6 terms of this seires,
1+ 7 + 49 + 343+ ...
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Find n if Sn =55,987 for the following series,
                  1+ 6 + 36 + 216 + ...
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